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2018
ECONOMICS — HONOURS
Sixth Paper
(Group - A)

Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section — A
(Marks - 20)

1. Answer any five questions :

(2) ‘International inequality’ and “Global inequality” do not reflect
the same aspects to the measurement of inequality across the world — Do you
agree? Give reasons.

(b)  What is the basic difference between ‘feudal’ and ‘semi feudal’
character of a pre-capitalist society?

(c) Mention any two causes of economic crisis faced by Great Britain
during the Great Depression of 1930s.

(d)  What are the objectives of UNCTAD?

(e) Indicate any four likely impacts of operation of Multinational
Corporations on the welfare of developing countries.

(f)  Explain the TRIPS and TRIMS agreement of WTO.

(g) Mention two aspects in which role of state has changed following
the Washington Consensus.

(h) Distinguish between the concepls of ‘comprehensive plan’ and
‘partial plan’.

Section - B

(Marks — 30)

2. Answer any three questions :

(a) Discuss the causes and consequences of British Industrial
Revolution.

(b)  Analyse the basic causes of economic collapse as experienced by

USA during 1930s. Mention the strategies adopted by USA to recover from this
crisis.

(c)  What do you mean by structural adjustment programme of IMF

and World Bank? Examine the impact of such programme on the economies of less
developed countries.

(d) Discuss the economic rationale for the gradual integration of

LDCs through formation of Regional Trading Blocks. Examine the welfare impact
of such Trading Blocks.

(e) Differentiate between the notions of centre and periphery. Do you

think that the development of the centre leads to the underdevelopment of the
periphery?
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